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Question1                                                                                                           (12points)
Complete each of the following sentences:

a) The reciprocal of 
[image: image1.wmf]7

1

2

-

 is: ______
[image: image2.wmf]15

7

-

_____________.

b) The property of equality illustrated in the statement:  
                         If 
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c) If 
[image: image6.wmf]{

}

 

2

2

-

h  

number wit

integer 

an 

 

is

 

 

 where

,

 

<

£

-

=

=

x

x

x

x

y

y

A

, then the list of all elements of
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d) If 
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e) Writing the expression  
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f) The exact value of 
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Solution: 
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Question 2:                                                                                                          (3 points)
 Simplify the expression 
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 . Write the answer in the simplest form.                                                                                
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Question 3:                                                                                                                             (5 points)
Rationalize the denominator of the expression   
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 . Write the answer in the simplest form.       
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